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NESS MATHEMATICS AND STATISTICS e Marks : 90
e , PART - A
""“"’: questions. Choose the correct answer
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}; &:\ea':_»:a:::r‘?gfho‘ iNncome on 7% stock at Rs.80 is &) 3% B8 75% c)8% d)7%
< S ch payments are made at the beginning ef each payment period is called

-
a) Annuity de -
~ Ty due b‘i&r mmediate annuity  c) Perpetual annuity d) None of these
. = r; cu s = 2 = z
/:-? ¥u== . hen Z_; is equalio a) 2xe b) e~ < 2e* 40
¥5. Median is same as 3,0, GI/Q‘: c)Q, d)D,
fg e events A and Bare independent if :
a BA~B)=0 8)P(A ~B)=P(A)xP(B) c)P(A~B)=P(A)+P(B) d P(AUB) = P(A) x P(B)
17. The cgrreiation coefficent s =
— /- 1 1
ayr==* bx; Y b)r= — ., _ Cc)r= = —— g —
4 Dxy x Dyx )r bxy X byx c) r= bxyxbyx d)r i\bxyxbyx
18, Thetemn rigéreﬁsige was introduced by
~ &SIRA Fis 7 Sir. Francis Galton c) Karl Pearson d) Croxton and Cowden \
19. A sgiution which maximizes or mmg&g the given LPP is called 1\ £ )
B 3% z solution b) a feasible solution ¥y an optimal solution d) none of these
20. In cghcal path analysis the word CPM mean
/ L4} critical path method b) crush project management c) critical project management d) critical path management
PART - B
Answer any 7 questions. Q.No.30 is compulsory. 7x2=14
X x-1
' 2% Evaluzte 4 X \
22 #~C,="C, find 12Cn N .
x2+y2—22x—4y+25=0

23. Find the centre and radius of the circle

24 Find sin105° + cos105°

25. Differentiate : sin°x A >
oz cZ

!fz=(ax+b)(cy+d), then find Ex— and =,

y
st to get a perpetuity of $.30,000.

Rs.675 for every half yearly from the present value of R

28.
6, 6,10, 18,14,20, 8

2% Find the annual rate of intere

& 1 . . 1
_and D, for the following series. 22,4.2,12,16,
. e " |ate the correlation coefficient

29 From the following data calcu Bl e e nformation Txy =120, Ix* =90 Zy*= 640. .
\ tworkbasedonteoom .
s Ziﬁgp °Q A B C D CED CFD o .
immediate predecessor - - A B . ,
PART -C
7x3= 21

Answer any 7 questions. Q.No.40 is compulsory.
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T Find n if T,

. 9! 101 11
nd the valye of k sothatthe line3x +4y —k =0is a tangent x? + y2 — 64 =

sin(180° 0)cos(90° + 0) tan(270° - 0) cot(360° -0)
Prove that —— T — o e —
Sin(360" - ) cos(360" - 0) sin(270° - 6) cosec(-0)

x’ 128
1109 =~ 55, then find o f(x)

Fpr the function y = x? + 19, find the values of x when its marginal value is equal to 27,
E;nc: ;4he ?Tg::; of annuity of J2000 paybale at the end of each year for 4 years of money is worth 10% compounded annually.
From the following data compute the value of Harmonic Mean.
Marks 10 20 25 40 50
No. of students 20 30 50 15 5
Find the means of X and Y variables them from the following two regression equations.
2y -x—-50=0
3y - 2x-10=0.
DOraw a network diagram for the following activities.
Activity cod A B C
Predece§fp}r7activity i A A
“\ 7

AnsiaF al the duestions.
oY  ad
0 IR 2
;
1

41. 4) Show that the Mmatrices A = and B = are inverses of each other. (OR)

b) Suppose the inter-industry flow of the product of two sectors X and Y are given as under.
Production sector Consumption Domestic Gross
sector. sector demand output

X Y
X 15 10 10 35
Y 20 30 15 65
Find the gross output when the domestic demand changes to 12 for X and 18 for V.

1

42. a)Resolve the partial fractions for the following. m (OR)

b)A'manufacturer produces 80 TV sets at a cost of 2,20,000 and 125 TV sets at a cost of 2,87,500. Assuming the c. ! curve to be
linear, find the linear expression of the given information. Also estimate the cost of 95 TV sets. 7 - y o
(X1 afx+1)_n _  [(x=3)(x% +4) T
43. 2) Solve tan (X — 2) +tan (X y 2] 4 (OR) b) Differentiate \‘m
44. a) Find the absolute (global) maximum and absolute minimum of the function.
f(x) =3%5 — 25x* + 60x + 1 in the interval [-2, 1] (OR)
’ person purchases a machine on 1st January 2009 and agrees to pay 10 instaliments each of <12,000 at the end of every year
inclusive of compound rate of 15%. Find the present value of the machine. [(1.15)" = 4.016].
45. .a) Compute Quartile deviation from the following data.
Cl 10-20 20-30 30-40 40-50 50-60 60-70 70-80
f 12 19 5 10 9 6 6 (OR)
b) In a shooting test the probability of hitting the target are 3/4 for A, 1/2 for B and _2/3 for C. If all of them fire at the same target,
calculate the probabilities that (i) All the three hit the target (ii) Only one of them hits the target (iii) At least one of them hits the
46. taa)rgz; following are the ranks obtained by 10 students in Statistics and Mathematics.
Statistics 1 2 3 4 5 6 7 8 9 10
Mathematics 1 4 2 5 3 9 7 10 6 8

ind the rank correlation coefficient. (OR) . ‘ . .
:;ngalculate the regression coefficient and obtain the lines of regression for the following data.

1. 2 3 4 5 & 7 : YO
’; 9 8 10 12 11 13 14 {n.Of
P ) . i inish ti i d latest finish time of each activity of the project qiven
y rliest start time, earliest finish time, |atest gtart time an _ y of the project give
47. I3) ICIaculgtséreeme';e the Critical path of the project and duration to complete the project.
A?:tio:vit yan 1-2 1-3 1-5 2-3 24 34 35 36 46 5-6
Duration (in week) 8 5 12 ‘ N 5 b +4 7< 2 p e
L) Solve the following LPP Maximize Z = 2x, + 5x, subject to conditions x, + 4x, <24 3x, + x, < 21
X, *s <9andx, x,20
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